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* Please check that this question paper contains 10 printed pages + 1 map.

* Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

* Please check that this question paper contains 26 questions.

* Please write down the Serial Number of the question before attempting it.

* 15 minute time has been allotted to read this question paper. The question paper
will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will
read the question paper only and will not write any answer on the answer-book
during this period.
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General Instructions :

(i) The question paper is divided into four sections. Section A,
Section B, Section C and Section D.

(ii) The question paper has 26 questions in all.
(iii) All questions are compulsory.
(iv) Marks are indicated against each question.

(v). Questions from serial number 1 to 7 are very short answer type
questions. Each question carries 1 mark. Answers to these
should not exceed 30 words.
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(vi) Questions from serial number 8 to 18 are 3 marks questions.
Answers of these questions should not exceed 80 words
each.

(vii) Questions from serial number 19 to 25 are 5 marks questions.
Answers of these questions should not exceed 100 words
each.

(viii) Question number 26 is a mdp question of 5 marks with two
parts—26A from History (2 marks) and 26 B from Geography
(3 marks). After completion, attach the maps inside your
answer-book.
Qug—-<h
SECTION-A

1. ufrEe oo el ¥ R S e 3 e 3 R @ aE A
a8’ 1
HUAT
TSATel o TG e o forerTd o1 @18 oI 21 Tkl 27

What may be a goal of landless rural labourers regarding their
income?

OR

What may be a goal of prosperous farmer of Punjab?

2. ot ® afa g - ffientor % forg Fa seert 27 1
HAYAT
itz T v Fefreron 35 e 3 S 27
How is b\}er irrigation responsiblg for land degradation in Punjab?.

OR
How is cement industry responsible for land degradation?
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3. SO H g ¥ DU h A T §S 7
' T |
&g wwietl § argare wfwn 3 IuRmg fit drElEd H TaeH J
TR hl 7
How had hand printing technology introduced ih Japan?

OR

How had translation process of novels into regional languages
helped to spread their popularity?

4. AR g SeRa-Ie gar fohe weR foh s Hed 87

How can democratic reforms be carried out by movements?

5. 194 yaredl & SR U | N1iefe & H IeRaTe sl SATEAT shifeg|
JroraT |
Wepit Sear & o filen e 8§ wiEffet & Fnem i samen Hifsm)

Interpret the concept of ‘liberalisation” in the field of economic
sphere during the nineteenth century in Europe.

OR

Interpret the contribution of French in the economic development
of Mekong delta region.

6. ‘fidfas’ oft ‘qeftas’ &t o dira st ww AR

Distinguish between ‘secondary’ and ‘tertiary’ sectors.

{
7. ‘guds RUMYR o Hed T8 Hhifeu)

Explain the importance of ‘collateral.’

32/1/2 4
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T ue-g
SECTION-B

8. < TSTad foRE YRR @9 WU e Gfsd Rt 1 ged 981 IcdTesh S|l
@17 IaTET Hfgd AT Hifely| 3x1=3
AT
7y o Seheel ot & dRm v fRe weR @ o foe gerar @
Iuersy B R A7 I "itd Amen i)

How had the Imperial State in China been the major producer of
printed material for a long time? Explain with examples.

OR
How had novels been easily available to the masses in Europe
during nineteenth century? Explain with examples.

9. ‘Toit yrem g’ o el ofi7 g fasaTeti &1 aviE shife 3x1=3
HAAT
‘Gl ve kg < TR o g femianedi o1 i ehifs)
Describe any three main features of ‘Rabi crop season.’

OR
Describe any three main features of ‘Kharif crop season.’

10. “ferE ) fear s wied Fremor & eefi &= § fore v o feman
TT? IETEI Wied SATEAT ity | 3x1=3
: SPC
forream &t onifdfer ynifa & forg fSier i ameneti it e fed
T iU

How had Napoleonic code exported to the regions under French
control ? Explain with examples.

OR
Explain with examples the three barriers that are responsible to
economic growth in Vietnam.
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11. ‘Jui-STe1 GUEY o Hecd o fagaiwor Hifsw | 3

Analyse the importance of ‘rainwater harvesting.’

12. 39Al o9 ‘afayfd famor & sfter 1 3w frg yor = T
&7 IeTe wigd s A 3

How can consumers use their ‘Right to Seek Redressal’? Explain
with example.

13. riefen foenma o sor o Mol Hidl & Weed 1 9l HiR| 3x1=3
- HUAT
HAITTIE 0T o I o1 heiaRl W U aTel 9t Tt %1 guid Hifsa
Describe the importance of formal sources of credit in the
economic development.

OR
Describe the bad effects of informal sources of credit on borrowers.

14. ‘TSHIfah g’ & o et (seent) i sqmen $ifvm| 3x1=3

Explain the three components of ‘political party.’

15. WA ¥ ‘qel1ah & Teeaqul 1 8 1 87 Fordl ot st ht s
it 3
AT
forelt 2w o wohet W] Ieare (SR.A W) I FA & forg Rfg awgei
I el 31 U1 89 HA i & 7 It afd wE IR

Why is the ‘tertiary sector’ becoming important in India? Explain
-any three reasons.

: OR

How do we count various goods and services for calculating Gross
Domestic Product (G.D.P.) of a country? Explain with example.

32/1/2 6
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16. “‘wafeor # fiae & uftm g ot usy dmredt @1 e 98w |
3 A ! —ATTET ST | 3

“Consequences of environmental degradation do not respect
national or state boundaries.’’ Justify the statement.

17. “‘forelt Snepaifres w1 # graTforen fafsmarett o St &1 weh wm= o@rd 2
3R Ty oft € werdll 81 deh |igd 38 S s gfY i) 3
37T
“grarfsres forvrem Terifa s wTfad od €177 39 e R gwE i

“The assertion of social diversities in a democratic country is very

normal and can be healthy.” Justify the statement with arguments.
OR

“Social divisions affect politics.” Examine the statement.

18. “‘9Rd H el o W1E @ "fieenedi i fufa § Fw guw gen B, W
¥t +ft geui © w1kl S 817 38 e o fovermor hifs | 3x1=3 "

“Women . still lag much behind men in India despite some
improvements since independence.” Analyse the statement.

Qug-1
SECTION-C
19. Tl varsel it fava qefereen o 9 99 i H AT SF9R 3 T
areH vifive a1e1 ) oft | 38 e farvero Hifvg) 5x1=5
Tt
‘Seet yraTedt % UES 3T d%h WRA | SR o1 W& 3 SecmEl
61 =Ue § 71 Foh! 911’ §9 YA o1 faveror hifs|
Jrorar
‘e e § ST Y YR % R T e N St 21
e o foeiy gy # 39 sed = favemor Hifs

“Indian trade had played a crucial role in the late nineteenth
century world economy.” Analyze the statement.

OR
“Series of changes affected the pattern of industrialization in India
by the early twentieth century.” Analyze the statement.
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OR
“Industrialization had changed the form of urbanization in the
modern period.” Analyze the statement with special reference of
London.

20. 1930 § frmy =fordt =t ‘g ot wafoaea’ & wnfea frn? 3R
- IufeREl hT Ui ShifeT| 1+4=5
ST
“GfyTg S7aS iEeH YTeE w1 g ISy ‘afema stam iEe
§ o7 off e foRaT wgerEt it wrwifitar & aviF Hifsm)

Who had organized the dalits into the ‘Depressed Classes
Association’ in 1930? Describe his achievements.
OR
Define the term ‘Civil Disobedience Movement.” Describe the
participation of rich and poor peasant communities in the ‘Civil
* Disobedience Movement.’

21. ieiifie aftafy & fou weErh el ufe e it Semwn afed
e i | S5x1=5

Explain with examples any five factors that are responsible for

industrial location.

22. oufa, oem ofit witepiae Teqel & MUR W fcsad 3R et Al
ferfa Y qen hifs| 1+1+3=5
e
e o e e STET? g &Y 8 eiod S st JEien]
fafirs weal it e i)

Compare the situation of Belgium and Sri Lanka considering their
location, size and cultural aspects.

OR
How is the idea of power sharing emerged? Explain different forms
that have common arrangements of power sharing.

32/1/2 8
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23. “‘9rd ¥ gew ufEE, iamﬁaﬁmwﬁmgﬁm%l” HYA
! 3TN Fled grE hik| 5x1=5

“Roadways still have an edge over railways in India.” Support the
statement with examples.

24. WA o foheal gie qiOTTHET A1 g s | S5x1=5
Describe any five outcomes of democracy.
25. SFelteRT o Tehegl e SuTal ot Ta hifTe | Sx1=5

Explain any five effects of globalization.

Qug-u (FH 99)
SECTION-D (Map Question)

26. (A) & @& A 3R B R MU yra F vl ar-amtm § sifed
fore U §1 3 @eon ol Fefefad S B wrEda @ ggEntie :
3R 37 Tt T wfs Wi 78 et w fafa- 1x2=2
(a) o8 TN ST WRATE UL HE 1 ARy gem|
(b) =€ TR SET SHferaterer ST i Tl gl
(B) i fw mq wRa % T Yar-wm # frafafea § & R
19 =l 3wk gl & quTiey 3 39 m fafgu: 1x3=3
(i) eTIeRyT ~ 3TfUeeh Soll GO
(ii) fasR - <ie IR swra g9
(iii) ST - HIFAR T ok
(iv) IRIEY - et g9
(v) ¥ER T - iy
Ae:  Frefefed e e gtetia wheffat % foe s de 26 %
T R foheelf witer a1 ST ST - IX5=S
() 39T % T ot sret sifersfaren m st e g6
(i) 38 TF 1 AW foaRau sEf miefsht 3 Twe S’ dren
(ili) 39 TF =1 AW forfaw siEt =-=’ we afea gl
(iv) 39 U7 o1 A fofae sret unrdt T ue fea R
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(A)

(B)

Note :

32/1/2

(v) 38TsT % T fafae sl faspmm der ofit 3o @97 fea

2

(vi) 39 TS %1 aW fafae ST Aver diwedat it 9
fera 21

(vii) TR U sy forg 7t e 87

Two features A and B are marked on the given political outline

map of India. Identify these features with the help of the

following information and write their correct names on the

lines marked near them.

(a) The place where the Indian National Congress Session
was held.

(b) The city where Jallianwalla Bagh incident took place.

Locate and label any three of the following with appropriate
symbols on the same given outline political map of India.
(i) Kalpakkam - Nuclear Power Plant

(ii) Vijayanagar - Iron and Steel Plant
(iii) Noida - Software Technology Park
(iv) Paradeep - Sea Port

(v) Sardar Sarovar - Dam

The following questions are for the Visually Impaired
Candidates only, in lieu of Q. No. 26. Attempt any five
questions.

(i) Name the state where Jallianwalla Bagh incident took
place.
(il) Name the state where Gandhiji violated the Salt Law.

(ili) Name the state where ‘Chauri-Chaura’ incident took
place.

(iv) Name the state where Paradeep Sea Port is located.

(v) Name the state where Vijayanagar Iron and Steel Plant
is located.

(vi) Name the state where Noida Software Technology Park
is located.

(vii) On which river is Sardar Sarovar Dam constructed?

10
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Map for Q. No. 26
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